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1. Find the limit or else show that it does not
exist: X -+ >/_ 1 é__scf ",”

) i) XFY-3 €t o
This "blows up” somehow. Take X=|
= Ry g ) PeTeasysy”
m— VY }nejq{ive as y=>)
So H\is goeSs JC() iOQ c‘JQPQh(XMj Ol
Hne Way we aPPPoacL = D/V@
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W) lim XA
(x,y)-;(-/,n) X~Y+Sin(k+4) -

fo ("';l) (S (n Hme Jomau'n here,__

° Clite Continily
X PIMS (n Po(n(— fa QV“"«C\{‘Q

. 03
,lm X"'}’ — = '+/ :E‘——l
(b)Y simfety) oy Y
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( )IIW\ $in (x]) é ”2“

(xi)(0,0) $inly) cos(¥) 5
Sln(a)
5'“(7)Los(y) O
o [ook Tor a way to qet q o{ {{er?nf
resu|t; \/ X —>S

Try X=0, VNEO =

M CoS(x)

- COS&) 2 [F0 (3N E)
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G(ven tha€ xy+X2:+€ =&
fmd Sx i 9z 4¢ (I, 0)

2 (Xv+><z+€ )*&O—% ®

2
“> \/+Z+X D)<+e— éé - O

(plug in (’,(,0) | ) O% 7

0 92 A2
= I‘h)"'a o D 0= H‘lﬁ
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ox X
\ 2% 2232
o 2\ — — —=
'97<><y+><z+€>’x+><3¥ N
2z 02 _
= Iyt y=o
:>_?_%_’\
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3 et F("I‘// = e (17"“{2) with
K={+S, Y=ar-3¢t, 2+ f t+S. Use
Lhe Chain Rule o %H\O‘ \ with

(rls JC) (, )
rf } +F/ Vet 2 2¢ .
()\/HZ) X =\ Still need
;ex Y¢=73 (XI /) Z)
F& ={e 2]
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X=1+0=| Fe= e (6)+46)
V=2-37-] = -0 e

2=rre=e RK=2e, [=Ye
Thus) = Qe +de(3) +4e (-1)
=(2ti)e = -pe

————
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H, let Cxy)= ) =xy+x- -yt
(6() FMJ the afemvafwe of 1(3 In tha
d;rfc'f‘fon <“/|3> 6\'(_ (’),0).

K4l =325 D §= gy,
V; <LI\/+>>< qx L/\/>th5m o
V?(/o) <>‘ Lf>

D= L yp-(i9- /1 3
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(L) Find Do £ at (371) if G points

I'Y\ H\e dl'rec_‘l'l'on oF 'FQS?LfSZL Increqse

Then = % and Dy f - /vjt/

/ () <q‘/+1>< Ux- ‘{>>/
“<q+‘l 811)= <0 Q>
=7 7$=Day = N
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5 Gi

on Flay)= &7 T
IV

‘Flhd the 4650’Mf€ "“‘X/Mm Vﬁ/ues ‘Er ‘F
on 0“)(41 O<>/<)\

Check 2
y =0

| I

/\//_\fi’\eck f =0
k check P§=0
i ﬂ ¢ check ‘{\/:o

t'nd 51"‘ J\'t' CofNe(rs
$/ Hk
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[ =0=(Ax+y) g A
m

=5 X=| '(‘e-)"ﬁf =0 Candidate
gy =0 :(‘L{y-l"/) B V=1 l

] +Y3
So check §(1,) )+)\)+t{_—eo: /

Check corners o§ U, gy 3

Cloo)=e° faore  =e
+53 - -3
g(olq = 68 8 2: QB 7C(2;1):€.
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So far, max =1, min= e’ Now we
check §$,=0 aleng y=0,y=2..

_&(:O => x= (dreaa{), Solverj H\is)
So nowcheck § at (!,o 5:(/.3\)

F(lo)= 'Qz-é i
¥(’1) ’13"‘33—61
S:m.lqr\y {: =0=) V=1 50 C}‘eCkg(o") '?(QI)

o )= 2*‘”_e £
MAX=] ,miv=e 3
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6. The volume of a cylinder in terms of

Cadins F dnd height h 15 given by
V=Tr*h. The Surface area IS
S e+ 27k .

M”M(M[ZQ Che volume Hﬁ S:L/, {/}(Qol_
So,\/e V\/ = XVS
\ =4
for mhok

14
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)V = 270k = A SEA(merah)

gV, = T < A5 = A ()
3) =T ek =Y (9
()= =02 1)) =0 =)
Tnsert in(1).. 470\ = A (8T )+2rh)

=> 2 )}h= I\ +Ah

= 040 =A(4)h)

:> }\X) Of'q)\:h
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PMIL F=2A, h=9) into §=Y :
TN T (AN =Y

57_(—)\1’{’/677_ )\L - % ’DOSH'l've r00(~

2%7?\7—:‘/ R

[

X‘E&'MO n
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